| Efficiency vs Dxy |

> 0.1
<

N T L A R R
.00
< - T T S S R R R
D08

b
SRR RRES

0031
0,02 o B

ol gy

o+

........................................

Rati

=
!

0955 56-16-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_ttbarPU_mkFit_5iter
[ Efficiency vs Dz | |—=— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

0.2 —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation
N U. ; T T T
©

1
> N N N N N

Q - : : : : :
.é_?'lGZ : : : : :
@) - : : : : :
.14 o Frrereree frorereeeee AR A
()] L : : : : :

] s S e
B
0.08F |k {Tt e

0.06

0.04f: {1}
0.02
o+

Rati

30 20 -10 0 10 20 30
TP dz (cm)

0.95



	Contents
	Page 1


